
 
 
 

The  following  documentation  is  an  electronically‐
submitted  vendor  response  to  an  advertised 
solicitation  from  the  West  Virginia  Purchasing 
Bulletin  within  the  Vendor  Self‐Service  portal  at 
wvOASIS.gov.   As  part  of  the  State  of  West 
Virginia’s procurement process, and to maintain the 
transparency  of  the  bid‐opening  process,  this 
documentation  submitted online  is publicly posted 
by  the  West  Virginia  Purchasing  Division  at 
WVPurchasing.gov  with  any  other  vendor 
responses  to  this  solicitation  submitted  to  the 
Purchasing Division in hard copy format. 
 



 



Page : 1

Proc Folder :

Solicitation Description :

Proc Type :

Date issued Solicitation Closes Solicitation Response Version

Solicitation Response

Purchasing Division
2019 Washington Street East

Charleston, WV 25305-0130
Post Office Box 50130

State of West Virginia

295930

PRE-STRESSED CONCRETE BOX BEAMS & ACCESSORIES

Central Purchase Order

2017-03-28

13:30:00

SR 0803 ESR03271700000004623 1

 VENDOR

000000201886

EASTERN VAULT COMPANY INC

Comments:

Total Bid : Response Date: Response Time:Total Bid : 

Solicitation Number: CRFQ 0803 DOT1700000064

$124,595.00 2017-03-27 14:06:23

FOR INFORMATION CONTACT THE BUYER

Signature on File FEIN # DATE

All offers subject to all terms and conditions contained in this solicitation

FORM ID : WV-PRC-SR-001

Mark A Atkins

(304) 558-2307
mark.a.atkins@wv.gov



Page : 2

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

1 EXTERIOR BOX BEAM SECTION 369.00000 SF $60.000000 $22,140.00

30101717

Exterior beams must be 27" deep by 26" wide by 61'-6" overall length. (60'-0" c-c bearing anchor bolt holes).Beams
Skewed 10 degrees right forward.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

2 INTERIOR BEAM SECTION: 922.50000 SF $55.000000 $50,737.50

30101717

Interior beams must be 27" deep by 36" wide by 61'-6" overall length.  (60'-0" c-c bearing anchor bolt holes). Beams
skewed 10 degrees right forward.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

3 ELASTOMERIC LAMINATED
BEARING PADS

12.00000 EA $250.000000 $3,000.00

30101717

Type B1 elastomeric laminated bearing pads at 1-13/16" thick by 4-3/4" wide by 28" length. Must be 60 Duro Hardness.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

4 ELASTOMERIC LAMINATED
BEARING PADS

4.00000 EA $250.000000 $1,000.00

30101717

Type B2 elastomeric laminated bearing pads at 1-13/16" thick by 4-3/4" wide by 15-1/2" length. Must be 60 Duro
Hardness.



Page : 3

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

5 SWEDGED ANCHOR BOLTS 14.00000 EA $20.000000 $280.00

30101717

Swedged anchor bolt or Number 8 deformed reinforcing bar (Grade 60) galvanized. Must be 1" diameter by 2'-0" Length

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

6 PREFORMED JOINT FILLER 28.00000 SF $60.000000 $1,680.00

30101717

Performed joint filler for use around bearing pads must be 2-1/8" thick.  The dimensions of joint filler to be placed behind
the bearing pads shall be 21.7' long by 6-1/2" wide at each abutment yielding 11.8 square feet/abutment for a total of 24
square feet of joint filler. The dimensions of joint filler to be placed between the bearing pads shall be 5.1' long by 4-3/4"
wide at each abutment yielding 2.0 square feet/abutment for a total of 4 square feet of joint filler.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

7 PREFORMED JOINT FILLER 98.00000 SF $20.000000 $1,960.00

30101717

Preformed joint filler for use at the beam ends must be 1" thick.  The dimensions of joint filler for beam ends shall be
21.7' long by 27" wide at each abutment yielding 48.8 square feet/abutment for total of 98 square feet of joint filler

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

8 GUARDRAIL ASSEMBLY 20.00000 EA $300.000000 $6,000.00

30101717

Guardrail assembly provided as shown in the plans (Attachement 1) must include all the necessary studs, nuts and
washers.



Page : 4

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

9 1" DIAMETER POST-TENSIONING 121.90000 LF $20.000000 $2,438.00

30101717

Post tensioning bars must be 1" diameter. 5 bars @ 24'-41/2" are required for a total length of 121.9'. Post tensioning
bars must be threaded and supplied with 12 hex nuts and other hardware as required in the plans (Attachment 1)

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

10 BEARING PLATE 10.00000 EA $75.000000 $750.00

30101717

Bearing plates for exterior beams must be 9"x9" x 1" thick.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

11 TYPE TL-2 BRIDGE GUARDRAIL
POSTS

20.00000 EA $400.000000 $8,000.00

30101717

Bridge guardrail post must be designed for a minimum TL-2 crash testing   criteria as shown in the plans (Attachment 1)

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

12 TYPE TL-2 BRIDGE GUARDRAIL 131.00000 LF $200.000000 $26,200.00

30101717

Bridge guardrail must be designed for a minimum TL-2 crash testing criteria as shown in the plans (Attachment 1)



Page : 5

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

13 1" GROUT STOP 369.00000 LF $0.500000 $184.50

30101717

Grout stop must be 1" thick sponge rubber or 1" backer rod.

 Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount

Comm Code Manufacturer Specification Model #

Extended Description :

14 1" X 8"X 8" WASHER 30.00000 EA $7.500000 $225.00

30101717

Washers must be 8"x8" squares of 1" thick sponge rubber with a 3-1/2" diameter hole in the center.














